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L nmwn: mypn in the w1pn — no fewer than 21 on any given day, never more than 48
a.  Daily: 21 - 3 as gates opened, 9 at 1w Yv Tnn and 9 at 0’270 P2 Sv TEN
i.  am772 "M 1 reckons no fewer than 7 and no more than 16
1. Point of dispute: n"m "1 reckons n”n as one, per v. 1
a. a7 that teaches the requirement of (ny’pn) nVa before and after ny1In
2. pamv.2 proves that ny1In and ny’pn are independent
a. 71 that wasn’t a proper blasting, just a signal to gather
3. Note: ®1n3 '7’s ruling that ny’pn and ny»in must be “attached” sounds seems
to follow N’ "
a.  Challenge: this is obvious, as he (alone) reads them as one unit
b. Defense: perhaps this could follow 1117, who would allow that they
should be proximate
i. But:is meant to counter 3Ny "1’s ruling that if you heard 9
sounds during the day — &¥»; 5"np — only 72
ii. Note: proof that Xan> "1 only follows nT "3 (not 1117, per
suggestion) — his addition of "D X"
n”1 20 oy naw: another 9 for qoin (total — 30)
c. naw 2. another 6; 3 to inform people that they should stop working and 3 to separate wnp from n
i. Note: no blasts at 10 riser are mentioned here
1. Must follow: >"ar, who, instead of n"an at n»1wy n5yn had a n"in on the nam
2. Note: anyone who maintains n”n on narn does not have one at 10 riser and vice-versa
a.  Rationale: for »”ar1 — since they blasted for D»w nnna, no need for nPwy nHyn
b.  Rationale: for 1327: since they blasted for filling water, no need for nam »"y
d. wwduring mow: 48:
i. 3 each: for opening gates, upper gate, lower gate, filling water and libation (15)
ii. 9 each: for ornn and qomn (27)
iii. 6: to announce nawv
iv. /77 "1 reckons n"n as one, per v. 1
1. a7 that teaches the requirement of (ny>pn) NVIva before and after ny1In
v. j2a7v.2 proves that nyyan and ny’pn are independent
1. »”r that wasn’t a proper blasting, just a signal to gather
II. xn»ainterpreting vv. 3-4 >ny'pn for each qoin
a.  Challenge: if so, M2 naw would have 51 (2 pavin)
i. Defense (¥7r 77): there is no ny’pn for opening gates on naw
1.  Block (x37): mwn states “py 931” (for o»yw nnona)
2. Furthermore: then m2yo naw would also have 48 - should have been mentioned
3. Reason: would have taught »ar13 as well as this xn»92
ii. Rather (#37): there is no ny>pn for filling the water on maw (>even with 2 pavo, still fewer)
b.  Challenge: if so, teach nawa n" — 3 pavin (0", ,N1V)
i. Answer: he needed to teach m270 vy to teach »"ax12
ii. Challenge: why not teach both?
1. Answer: 791 Rin — list is non-exhaustive (he also omitted a”p)
a.  Block: 9" is not a 19w, per i’ "3 (3" nd never got to v. 5)
b.  And: perhaps our Rin agrees with ™ there, but not about reckoning my’pn
c.  Rather: omitted v"pa nvnY Ynw 9"y — 6 are added (for v"y), 6 omitted (for 3t n3)
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